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QID : 1 - In the following question, select the related word pair from the given alternatives.
Rain:Clouds::7:7
et wa o g Frerea o 4t =it e gt g

aaf a7 7
Options:

1) Rice : Food
T

2) Grey : Colour
Tetet; m

3) Heat : Sun

i :

4) Snow : Mountains

a ;e

Correct Answer: Heat : Sun
il

Candidate Answer: Heat : Sun
it ;

QID ; 2 - In the following gquestion, select the related word from the given alternatives.
Cactus : Plant: : Rice: ?
Pl wu o By g et F # wefis o= = g

e often ;w1 7
Options:
1) Basmati

2) Crop
A

3) White
ihe

4) Rabi
i

Correct Answer: Crop
e

Candidate Answer: Crop
T

QID : 3 - In the following question, select the related word from the given alternatives.
Pink : Colour : : Eagle : 7

Freferiar wer o fog oy Fererea o 4 wifis e &t gfm

T e ?

Options:

1) Black
el

2) Symbol
i

3) Bird
ush

4) Sky
HTERTET

Correct Answer: Bird
ueft
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TOTAL MO OF QUESTIONS : 200



Candidate Answer: Bird
geft

QID : 4 - In the following question, select the related letter pair from the given alternatives.
TOM:HNIG::7:7
Frefariar wa o i g fereedt of 4 Hefir s g & g

TOM:NIG::7:7
Options:

1) EAT : YUN

2) EAT : XXM

3) FAT : LMV

4) EAT : ZXC

Correct Answer: EAT : YUN

Candidate Answer: [ NOT ANSWERED |

QID : 5 - In the following questicn, select the related letters from the given alternatives.
LERI: PJVN : : MONT : 7

FrferiEra we o fag o feeat # & wafia st = 9

LERI: PJVN : : MONT : 7

Options:
1) WRTY

2) QTRY
3 RITY

4) ROYE

Correct Answer: QTRY

Candidate Answer: | NOT ANSWERED |

QID : 6 - In the following question, select the related letters from the given alternatives,
SAT -:WEX::MET:7

e e o Ry o Rrese o 9 weiin ser = g

SAT:WEX ::MET: 7

Options:

1) aQl

2) Iv¥,

3) FHY

4) 01X

Correct Answer: QIX

Candidate Answer: [ NOT ANSWERED |

QID : 7 - In the following question, select the related number from the given alternatives.
43:7::23:7

Frerferfa me F R o Pt A @ w=fie Fem & gfm
43:7::23:7

Options:

16

2)4

3)7

4)5
Correct Answer: 5
Candidate Answer: 4



QID : 8 - In the following question, select the related number from the given alternatives.
38:53::53:7
P o F By m Rt F & s=fis dwm st gfm

38:53::53:7
Options:

1) 72

2) 68

379

4) 87
Correct Answer: 6B
Candidate Answer: 68

QID : 9 - In the following questicn, select the related number from the given alternatives.
9:81::11:7

e mer # iy o1 Rreet A 4 wfie e &t gfm

9:81::1M:7

Options:

1)78

2)93

H1n

4) 146
Correct Answer: 121
Candidate Answer: 121

QID : 10 - In the following question, select the odd word from the given alternatives.

Freferfea us o fig g Rreredt 3 & e o= =t gfm

ﬂﬁgions:r
1) Gogale
a

2) Purse
o

3) Accessories
e wrt
4) Belt

E e

Correct Answer: Accessories
HETTE

Candidate Answer: Accessories
THTF HIHHT

QID : 11 - In the following question, select the odd word from the given alternatives.

Frerferfe me iy g Rresedt & R oz =1 gfm)

Options:
1) Grapes
ST

2) Guava
HAFER

3) Cauliflower

4) Orange
T

Correct Answer: Caulifiower

Candidate Answer: Cauliflower

QID : 12 - In the following question, select the odd word from the given alternatives.
Frerferia w7 R g Rt # & s o &1 g



Ortiuns:
1) Sparrow
e

2) Rat
il

3) Dstrich
4) Parrot
e

Correct Answer: Rat
R

Candidate Answer: Rat
kIl

QID : 13 - In the following question, select the odd letters from the given alternatives.

Frefaria wa o fiy el o 9 fes arerd &1 gfa)

Options:
1) GCATO
2) KGBXS
3) RMIEX
4) QMHDY

Correct Answer: RNIEX
Candidate Answer: [ NOT ANSWERED |

QID : 14 - In the following question, select the odd letters from the given alternatives.

Famfenfara war o o oy et o 4 g anerd &5t gff)

Options:
1) SOKG
2) AWS0
3) RNJF
4) CYTP

Correct Answer: CYTF
Candidate Answer: [ NOT ANSWERED |

QID : 15 - In the following question, select the odd letters from the given alternatives,

Freferfare we iy g Rresedt & R aed &1 gf)

Options:

1) KNQ

2) DG

) WIB

4) TWZ

Correct Answer: WZE
Candidate Answer: WZB

QID : 16 - In the following question, select the odd number from the given alternatives.

Prerferia me F iy oo Rreed # 2 fes wem =t g

Options:

N7-1

2)12-16

3)14-18

4)9-15

Correct Answer: 9 - 15
Candidate Answer:9 - 15

QID : 17 - In the following question, select the odd number from the given alternatives.

e wer F iy g Rreed # 2 Fre wem =t g
Options:

1N)2-4

2)3-9

H4-18

4)5-75

Correct Answer: 4 - 18

Candidate Answer: 4 - 18

QID : 18 - In the following question, select the odd number pair from the given alternatives.

Frerfarfirm s & R g Rrerect 3 2 Rress s g o afig)



Options:

1) 76 - 42

2)92-20

Py7z-1

4)93 - 27

Correct Answer: 92 - 20

Candidate Answer: [ NOT ANSWERED |

QID : 19 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Flagrant
2. Flavour
3. Flatter
4. Flick

5. Flawed

Pt a5t aremmter F ot ard @ & argeme fh

1. Flagrant
2. Flavour
3. Flatter
4. Flick

5. Flawed

Options:
1) 13254

2) 31254
3) 23541

4) 3251
Correct Answer: 13254
Candidate Answer: 31254

QID : 20 - According to dictionary, which of the following word will come at THIRD position?

1. Heritage
2. Helpful
3. Hectic
4, Herolc
5. Heroism

gty & anpeme, PrefaifEe F @ ot a s e wm o amdm?

1. Heritage
2. Helpful
3. Hectic
4, Heroic
5. Heroism

Options:

1) Hectic
2) Heritage
3) Heroic

4) Helpful
Correct Answer: Heritage
Candidate Answer: Heritage

QID : 21 - From the given alternatives, according to dictionary, which word will come at LAST position?

firy o feremert 4 4, avegantan & T, WA w1 e offfrm s ww e
Options:

1) Juvenile
2) Justify

3) Judge
4) Justice

Correct Answer: Juvenile
Candidate Answer: Juvenile

QID : 22 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FMT2HO
e e i e 8, o & o ve g ) g g et F 4 g it R 9P, S e s g s

EMTZHO



Options:
1)B

2jc
A

4D
Correct Answer. A
Candidate Answer: A

QID : 23 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series,
ROK, LIE, FCY, ZWS, ?
ue s o &, B # o o g & By g et § @ o it Bees g, 7t sgee s oo st

ROK, LIE, FCY, ZWS, 7
Options:

1) LAG

2) SRV

3) Tam

4) FMQ
Correct Answer: TOM
Candidate Answer: TOM

QID : 24 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series,
FAQ, LGW, RMC, 7, DYO
e e e ran &, el @ e we gy # Ty g et of @ e wdt e g, ot o R O oY

FAD, LGW, RMC, 7, DYO

Options:
1) VIR

2) XsI
3)LsI

4 Mis
Correct Answer: X5
Candidate Answer: [ NOT ANSWERED |

QID : 25 - In the following question, select the missing number from the given alternatives.
14,22, 49,113,238, 7
P oy o By my Rreeedt d & g ofe 3 HiEm

14,22, 49,113,238, 7

Options:

1) 386

2) 532

3) 454

4) 576

Correct Answer: 454

Candidate Answer: | NOT ANSWERED |

QID : 26 - In the following question, select the missing number from the given alternatives.
42,21, 21,31.5, 63,7
Frefariam wa o fy o el A 9 g ofw wa Hifdm

42,21,21,31.5,63,7
Options:

1) 169.75

2)157.5

3)152.5

4)126.75

Correct Answer: 157.5

Candidate Answer: [ NOT ANSWERED |



QID : 27 - In the following question, select the missing number from the given alteratives.
14, 44,135, 409, 1232, 7
P o F By m Rl F & g ofw 7 Hifem

14, 44, 135, 409, 1232, 7

Options:
1) 2962
2) 3340
3) 3702
4) 3406

Correct Answer: 3702
Candidate Answer: | NOT ANSWERED |

QID : 28 - E is sitting between D and &, B is to the right of A, C is at one of the ends and C and D are sitting next to each other. Wha is sitting third?

E, D offe A & offm & &, B, A & it offe 8, ©, oo R om & off € ol D oo et & ammer o 4% ) ol s o e de 2
Options:

10

2) A

3B

4} E
Correct Answer. E
Candidate Answer: E

QID : 29 - Showing a photograph of a married couple B said that the gentlemnan in it was his father's father and A said that the lady in it was her mother. How is A
related to B?

U IR Wi & et i g B 4 e S g o e f & s e & fien o of A o B ol o ol f 3w amdt o A B 9 Ree e deEfia 8

Options:

1) Ais B's mother's sister
ABHrmifiamd

2) Ais B's sister

A B aE

3) A is B's Father's sister
A, B & iy &t age &

4) A is B's mother
A BHETd

Correct Answer: A is B's Father's sister
A, B 3 firem ot g &

Candidate Answer: A is B's Father's sister
A BT

QID : 30 - From the given alternative words select the word which cannot be formed using the letters of the given word.
MERCANTILE
o Revedt 3 @ a5 o= 9fg At fog Ty e & e a1 wt ek el & o wa

MERCANTILE

Options:
1) truce

2) learn
3) trace

4) claim

Correct Answer: truce

Candidate Answer: truce

QID ; 31 - If OLYMPUS is coded as MJWKNSQ, then how will TEN be coded as?

of OLYMPUS 1 &g  MJIWKNSQ Fran arar & & TEN @t e o g Bt

Options:
1} RCL

2) GVM
3) 5OM

4) UFO
Correct Answer: RCL



Candidate Answer: [ NOT ANSWERED |

QID : 32 - In a certain code language, 1875 means 'wound the round watch, 6143 means 'a cake is round’ and 7321 means 'watch a round wheel'. Find the code for
‘watch’.

fereft FAf2m =iz v 1875 790 & ‘wound the round watch', 6143 &1 3nf & 'a cake is round” 3 7321 1 arf & "watch a round wheel'| ‘'watch' & e =iz =@ w4

Options:
1)1

2)8
35

47
Correct Answer: 7
Candidate Answer: 7

QID : 33 - In a certain code language, '+ represents ™, ' represents &', " represents +' and '+ represents '+, Find out the answer 1o the following question,
96 x4+725+25-5=7
it i we wm F |, 2w e e &, | o Y mefilE w0, o el e & o+ 4 ) mefilE e &) PR ne wmram  m sl

O6x4+125+25-5=17
Options:

1) 23

2)24

3) 50

48

Correct Answer: 24
Candidate Answer: 24

QID:34-1f17 %22 =4 and 56 $13 = 7, then find the value of 71 $25=7%

g% 17 $22 =456 $13 =731 71 $ 25 = 7 1 AW ¥ F
Options:

1) 56

2) 96

3y

48

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED |

QID:35-1f A § B means A is sonof B, A # Bmeans A is brother of B and If & * B means A is father of B, then what does X # ¥ * Z § W mean?

mEAasEmadfifFA BT R AdEF i A BT R ArBmoanddTFA B Rmeat K # ¥+ Z $ Wamam anf &7
Options:

1) W is X's brother's wife

W, X & i &1 o=l

2) Wis X's wife

W, X ot

3) Wis ¥'s mother

W, X Hrai g

4) Wis X's sister

WX HraE

Correct Answer: W is X's brother's wife
W, X & s ot

Candidate Answer: | NOT ANSWERED |



QiD ;36 -

Select the missing number from the given responses

ferg my farepe & & o w2 g

Options:
1)3

2)9
3)-3

H1
Correct Answer: 11
Candidate Answer: 9

QID : 37 - Which of the following terms follows the trend of the given list?
COROCIK, OXOXXAHK, OXXOXK, OXXXOXXK, OXXNAOX,
Frerforfa A @ @' a ue £ et gt o @ o e i

OO0, OXOXXXKX, OXXOXXX, OXXXOKK, OXXXKOX,
Options:
1) XOXXXX0

2) XOXAHOK
3) OXXHOKN

4) OXXEHKD
Correct Answer: 000
Candidate Answer: OXXXXX0

QID : 38 - A scientist is studying the behavicur of an ant. The ant picks food and walks 5 cm Morth, then it tums to its right and walks for another 11 cm. then it tumns
right and walks 3 cm, then it turns West and walks 15 cm, then finally it turns to its left and walks 2 cm, Where is the ant now with respect to its starting point?

uen A Hiftat & map e e e T & 5 e gEwee 5 dfndler gow o oot & ol e ap @R ot qeew 11 S8der aeeht ) R o o ol ot e 3
Féteften Tt & o e g ofdm $ ot ggem 15 e a0t &) ofF A op o ard e g & ok 2 e et ) i om a nefees Rk @ et @7
Options:

1) 4 cm East

4 #fteften of

2) 26 cm West
26 Hévfizz ufdgm
3) 4 ocm West

4 itz

4) 26 cm East
26 Hénf

Correct Answer: 4 cm West
4 #fidtes ofdm

Candidate Answer: 4 cm West
4

QID : 39 - Two football players start running from the same point on the ground. Player A runs 10 km East, then turns to his left and runs 13 km. In the meanwhile

Player B runs 6 km South, then he runs 3 km East, the he tums 1o his left and runs 19 km. Where is Player A with respect to Player B?

& et e e & oo o g & e ae aee ) fEEd A, 10 Reaiier g & o draen # ol e ard o A 13 Reeniier 2 i o e fEed B, 6 fearte
Zfgron & aitt T & @ e 3 Beivdier of &t ofe oo # ol fee oot and ok g 19 b e d et g S e S RAerdt A i 7



Options:

1) 7 km West

7 fnedter ofdm

2) 7 km East

7 Reeindtes g

3) 13 km East

13 frabdes

4) 13 km West

13

Correct Answer: 7 km East
7

Candidate Answer: 7 km East
7 it o

QID : 40 - In the question two statements are given, followed by two conclusions, | and I1. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement |: Some chapters are physics
Statement lI: All science is physics

Conclusion I: All science is chapters
Conclusion ll: Some physics is science

wo o 2 aver i i ok ot 2t el | ot 11 et 7t ) ommaent e & R S e el & e T A i e & P et B g1 st Profa e i fig g
el | & -y EE-A Rigs w4 sus g ad P @ e &as 8 oft w g

A | g s e §
= 1 el R iR 2

Fereed 1: anft e s
Fored 1: g iYorehh e

Options:

1) Only conclusion | follows

B P A 8

2) Only conclusion Il follows

EEE I ot

3) Both conclusions | and || follow
Foreeed | ot &

4) Neither conclusion | nor conclusion Il follows

1 ot Fmwd | ot & it Fmwd 0

Correct Answer: Only conclusion |l fallows
vt v 1wt B

Candidate Answer: Only conclusion Il follows
dvaret Foremd | B

QID : 41 - In the question three statements are given, followed by three conclusions, |, Il and Il You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All success is victory
Statement 11: All luck is success
Statement lll: Some hard work is luck

Conclusion I: Some success is hard work
Conclusion Il: Some hard work is victory
Conclusion Ill: No victory is luck

wo At e T o ok et efte e ), 00 e 1 P vt 1 et mre & R S e wem & T A e T et & o wete g1 wh st o s f o g g
fersl F & wieawE-a B =0 & s g adt Ferer o ama &awa & of s

& |; it wer e
& 1 ot v e @
=y 111 T e v &

Fremd |: g T Apa &
Prerd 11: g dem A
Forezmef 1 =t v v st &
Options:

1) Only conclusions | and || follow
e ] | ol 1wt

2) Only conclusions Il and 111 follow

Faa Il 3l |t

3) Only conclusions | and 11 follow

e Frsad | ol 111 i 2

4) all conclusions |, 11 and 1 follow
e 1, 11 afte 100 wft

Correct Answer: Only conclusions | and Il follow
e Fmand 1 sl a‘gf



Candidate Answer: [ NOT ANSWERED |

QiD ;42 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

frrferRaa S amafar & & @l | o g 10wy
STPFY 3 et B A ST 7 T Fepell?

O
X




Correct Answer:

Candidate Answer:

QD : 43 -
Which of the following answer figure patterns
can be combined to make the question figure?
frrferfaer I angsfey & & i & nftreal o
Sitga R g wy ey &t awr I e 87

Options:

1)

2)

3)

4

Correct Answer:

Candidate Answer: | NOT ANSWERED |



QiD: 44 -
In the following figure, square represents
Professors, triangle represents Social
Workers, circle represents Dieticians
and rectangle represents Men. Which
set of letters represents Dieficians who
are not men?

Prerferfe o o o, el ot wefifia s=an &,
iy S o @) el s 8, g9 sdifts
Y #ie 2 gt o wefifa s B et s
T I Srifie o weffie s

# ot g =i B2

2]

Options:
1) EFGI

2) BOKH.)
3) 1GAC

4) DEJI

Correct Answer: EFGI

Candidate Answer: EFGI

QlD : 45 -
Which of the following Venn diagrams represents the
relationship between Butterflies, Animals and Insects 7

fr=farfaa & & i w1 & o forafery, Smest oiiv et
& dre Fey gufar 87



Options:

©
©
5

©

2

3

@
S

Correct Answer:

Candidate Answer:

QD : 46 -

Which answer figure will complete the pattern in the
question figure?

fraforfiaa & & - I angfy wy sgfy & nftrey

i
v




2)

3

4)

Correct Answer:

Candidate Answer:




QD : 47 -

From the given answer figures, select the one in which
the guestion figure is hidden/embedded.

&t Y S arpferl 3 & 9 gl B g fored

spfer et 81

2)

3)

Correct Answer:

S0k

Candidate Answer: | NOT ANSWERED |



QD ; 48 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T T H R TR SRR BT HISHT ST
B PR T Wier & a1e T8 5 SR Arpier Srr
ferang <em?

3




Candidate Answer:

d:"c_.'::}
o O
0y

QD : 49

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

Tfe ves gUur &Y MN &7 IR &1 AW ar & =it I
a@%tﬁﬂr@rﬁﬂ%ﬁw@%wm@%ﬁﬂﬁ

Options:
1)

A

2)

&,

3)

X

4)

Z,




Correct Answer:

QID : 50 -

A word is represented by only one sat of numbers as given in any one of the
alternatives. The sets of numbers given in the altematives are represented
by two classes of alphabels as shown in the given two matrices. The
columns and rows of Matrix-| are numbered from O to 4 and that of Matrix-Il
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example ‘'C’ can ba represented by
43, 41 elc and 'O’ can be represented by 57, 78 etc. Similarly, you have to
identify the set for the word "SPAN'.

T 91 35TT U RS- ey gt &, S s Rt 3 % Rl o
e e B et o R e ey et & < gt g s e 8, S s R
2 s 8 &1 ategE-l & wrew dfiv i S emo w4 v smmE M s H e
1 37 anvEET U i o Ee Il it aiiv e o e e g avi o
e 1 IEET 3 0 C B 43, 41 T gy 2wk @ e aur o’ # o,
78 3t g Ewia @ e & 5l o 9 st o F By gespan ¥ B
e W wEEEE &

Matrin | HTVGE ] Matrin il ETE-I
0 1 F 3 4| 5 [; 7 B ]

a M_| M | oM i E 5 N W [] u 5
[ A 1] I I A & R [ T u W
2 F | M I £ T 5 T X o L
3 I i A L [3 [ x 5 Pl w P
4 ] C A c L 2 1] X ") ¥ ¥

Options:

1) 66,87,33,56

2) 59784231

3) 86,89,32,55

4) 78,43.22.98

Correct Answer: 86.89,32,55

Candidate Answer: 86,89,32,55

QID : 51 - Preliminary expenses are the examples of i

iR B0 TR &

Options:
1) Capital expenditure
g

Capital gain
™

3) revenue expenditure
Rapu e eip]

4) deferred revenue expenditure

wiffra rared @

Correct Answer: Capital expenditure
aftr wm

Candidate Answer: [ NOT ANSWERED |



QID : 52 - Which economic activity cannot be included in the tertiary sector?

e g 3 ¥t ol TR anfire o) o v

Options:
1) Working in a call-centre
e Hzw o el e

2) Tuition occupation
A EEY

3) Bee-keeping
wiEEE] uTE

#g:nking

Correct Answer: Bee-keeping
Heprerdl urEe

Candidate Answer: Working In a call-centre
e Hew # wrd F

QID : 53 - Which of the following statement is true for the Public Sector Unit?
PrefafEs & 4 o5 m sy afafies dus o & Ry ad &

Options:
1) Mof]t of assets :{uwned ?ﬂ;&rﬂ%ﬂéﬂ;‘%ﬂlﬁ%g

2) Most of assets is owned by big companies
aAfiremiar it 3¢ st & i § g g

3) Most of assets is owned rnment
St st s e S oS

4) Most of assets is owned by an individual
iyt ofiafom ve = & e e 8

Correct Answer: Most of assets is owned by government
st aRwaie st e A e

Candidate Answer: | NOT ANSWERED |

QID : 54 - The percentage of India's population in the total population of the world as per 2011 census is: .

2017 i I & SER wRE ) e By § s 6 e e

Options:
1) 17.5%
2)18.01%
3)19.35%
4) 20.25%

Correct Answer: 17.5%
Candidate Answer: [ NOT ANSWERED |

QID : 55 - Which of the following five year plan of India recognized human development as the core of development efforts?

s o @ Rr s croedf atoe 3 ) Eerners worl & w1R & o g R w o &

Ortiuns:
1) Eighth five year plan
LEcrickime]

Srg;l’\linlh five year plan
3) Tenth five year plan
ZEdl gty e

4) Eleventh five year plan
TRl et uﬁm

Correct Answer: Eighth five year plan
T e g

Candidate Answer: [ NOT ANSWERED |

QID : 56 - Which of the following thinker is associated with “the concept of political sovereignty™?

T & i e it mE o S & i

Options:
1) Maclver
EEDCC

2) Socrates
A

3) Rousseau

w41

e

Correct Answer. Rousseau
=41

Candidate Answer: | NOT ANSWERED |



QID : 57 - Who =aid, "A good citizen makes a good state and a bad citizen makes a bad state™?

et g o, ‘O e Al g arest e g 3R g i o g9 T a7
Options:

glalu

2) Aristotle

],
3) G. B. Shaw
Ll

4) Rousseau
=i

Correct Answer: Aristotle
TR,
Candidate Answer: [ NOT ANSWERED |

Q1D : 58 - Panchayat Samiti at the block level in India is afan

AT ¥ wle s u e v | g, i
Options:

1) Advisory Body

T FATgER

2) Coordinating Authority only
e g ulr%gaﬂm

3) Supervisory Authority only
e graaft

4) Administrative Authority

Bl G EE AR e

Correct Answer: Administrative Authority
wamEf mitE

Candidate Answer: | NOT ANSWERED |

QID : 59 - According to Indian Constitution, who decides the salary of members of Parliament?

TR ST & o, e & aawt & dea o Pk w w e

Options:
1) Union Council of Ministers
&g affee

2) Parliament
HEE

3) Supreme Court
TEgOH ATEed

4) President of India
W I

Correct Answer: Parliament
Hag

Candidate Answer: Union Council of Ministers
&4 wifiaieg

QID : 60 - Which one of the following is not correctly matched?

Freferiam & @ a1 O A gatem T8 i
Options:
mhth Sd'le;l._:% Languages

2} Second Schedule : Form of Qath of office

SR SRR« ArTy T
3) Fourth Schedule ; Allocation of seats in Rajya Sabha
gt ; e wn o st w5 s

4) Tenth Schedule : Defection related provisions
e ST : T HE wE

Correct Answer: Second Schedule : Form of Oath of office

et gt ; ATy wEy

Candidate Answer: Fourth Schedule : Allocation of seats in Rajya Sabha
vl arret - ara w o sl @ s

QID : 61 - When did the Chinese traveler "Sung Yun' come to India?
=it amsit e A v e s ar?



Options:
1) 510 AD
5104,

2) 518 AD
5184

3) 525 AD
5254

4) 528 AD
528 4

Correct Answer: 518 AD
5184

Candidate Answer: 528 AD
528 €

QID : 62 - Which among the following state ‘Odantpuri’ education center was situated?

=g faren &z Frefaide F # e o F smfeim o [
Options:

1) Bengal

A

2) Gujarat

TR

3) Bihar

faEm

4) Tamil Madu

Correct Answer: Bihar

farm

Candidate Answer: [ NOT ANSWERED |

QID : 63 - Who was the founder of Bahmani Kingdom?

AEET W 0 FERITE i 77

Options:

1) Hasan Gangu
B T,

2) Firoz Shah
fitat amg

3) Mahmud Gawan
e

4) Asaf Khan
HHE =H

Correct Answer: Hasan Gangu
T

Candidate Answer: Hazan Gangu
F

QID : 64 - During whose rule in India did the Khilafat movement begin?
W # T o & Saia e HEie W HRW g ur?
Options:
;knrd Mountbatten
AndedE
2) Lord Dalhousie
wifd gttt

g‘%nrd Chelmsford
HenE

4) Lord Curzon

it wat

Correct Answer: Lord Chelmsford
At et

Candidate Answer: Lord Mountbatten
Hiz ardede

QID : 65 - Who among the following was the founder of the Arya Mahila Samaj in the early 188057
1880 & ZawR & W 5 A A Tavs 6 e e 8 e dn



Options:

1) Swami Dayananda Saraswati
et EaT et

2) Swami Vivekananada

wmif i

3) Ramabai Ranade
o

4) Pandita Ramabai

dil'bmmli

Correct Answer: Pandita Ramabai
T

Candidate Answer: Pandita Ramabai
e zavarg

QID : 66 - Dasht-e Kavir Desert is located in which country?

Zea-n-iiR v A | e gy
Options:

1) Iran

2) Saudi Arab
A HTE

3) Irag

R

4) Sudan

=

Correct Answer: Iran
Eoic]

Candidate Answer: [ NOT ANSWERED |

QID : 67 - Which of the following layers is called "Barysphere™?

Frfafea & @ e uea =) “$afor o amm 82

Options:

1) Earth's most internal layer

uedt o) wEe it T

2) Earth's intermediate layer
ol AT o

3) Earth's topmost layer
ueft o wEE O

4) Lowest part of the atmosphere where climate changes occur
amgEEe ) e wm T e Lok

Correct Answer: Earth's most internal layer
et &t s s T

Candidate Answer: | NOT ANSWERED |

Q1D : 68 - The Blue Nile river originates from which of the following lakes?

= e = Frefafem F 4 e sfte 4 Preeeed &2

Options:
1) Lake Victoria
faifem gita

2) Lake Tana
e e

3) Lake Edward
vzed ita

4) Lake Albert
et gia

Correct Answer: Lake Tana
v |

Candidate Answer: Lake Edward
waad siw

QID : 69 - Which of the following states of India has the largest percentage of geographical area under forest as per the report of the Forest survey of India?

st 7 e 6t Rt & arpam vee & PrefafEs J # B oen A i de s meffis sfnm s da 7
Options:

1) Manipur

2) Meghalaya

HereT

3) Mizoram

4) Magaland
TS



Correct Answer: Mizoram
foritem

Candidate Answer: Magaland
ATATE

QID : 70 - At which of the following towns the Alaknanda and the Bhagirathi combines to form River Ganga?

e el s ud st el Rers dm =) et 8
Options:

;g;ridwar

2) Righikesh

E

3) Rudraprayag

FEUTT

4) Devprayag

v

Correct Answer: Devprayag
ZamEm

Candidate Answer: Rishikesh
siftdar

QID : 71 - 'Nirvana Fund' was set up by NSDC for financial help to

v g Tratn s & e &t refro s wer o i o o o
Options:

1) Entrepreneurs from the bottom rungs of society

e e o e

2) Displaced Kashmiri Fandits
e medhd a2

w e it @ wi e A
4) Ventures of selected candidates trained under PMEVY but did not get any job.
i & afenfa wofa ol nfiigs anfear O i dom = fen

Correct Answer: Ventures of selected candidates trained under PMEVY but did not get any job.
digerietand & siaria wota of wiifEm aeiear o o dwm i

Candidate Answer: | NOT ANSWERED |

3) Old age people having no means of livelihood
TR gapt

QID : 72 - Nakul Swasthya Patra’ is a scheme by the Government for which among the following purposes?

Pt #f & fve aiem o ufdf & g e T g e T O we A & 87
Options:

1) Wellness of animals

gapat & wEme w Ama

2) Wellness of animal owners

o] AiferE] o e 6

3) Taking care of lactating mother in the rural areas
mﬂmﬂgﬂuﬁfﬁ@ﬁﬁﬁmﬁmﬁ#mﬁmﬁ
4) Taking care of newborn babies in the rural areas

# e firga & wren 6 FEvE g

Correct Answer; Wellness of animals
uggat & wEme i A g

Candidate Answer: Taking care of lactating mother in the rural areas
aredtor 645 o e ot g e vl araned & e £ dmvE By

QID : 73 - Which mine of India was in the news recently for becoming the country’s first iron-ore mine to have a solar plant for reducing carbon footprint?

M Tl - TR e e T a o T I S ot ST S AT a1 2 e SR ma A o e e i afe i

Options:

1) Talchar mine

AeTET WA

2) Koraput mine
HEH

:{ Moamundi mine
Tt Emae

4) Ratnagiri mine
T EE

Correct Answer: Noamundi mine
AtamsEt mer

Candidate Answer: [ NOT ANSWERED |

QID : 74 - Where will the Summer Olympics be held in 20287
et SitEfts |1 2028 § wai e B sy



Options:
1 : gdnegr
2) Paris

G iEC

3) Los Angeles
Ata dfdea

4% Copenhagen

Correct Answer: Los Angeles
e s
Candidate Answer: [ NOT ANSWERED |

QID : 75 - Which country has won the 2017 Davis Cup Tennis Tournament?

2 oy 2w Al 2017 B Ay A ot 2

Options:
1} Switzerland
wirad s

2) Serbia
afm
3) France

4) Belarus

EEir)

Correct Answer: France

Candidate Answer: [ MOT ANSWERED |

QID : 76 - "You are Unigue” is written by .

g R g Zr vt md &
Options:
g Dr. A. P J. Abdul Kalam
.. . . e A
2) Khushwant Singh
aarda i
3) Taslima Masrin

4) Arvind Adiga
Hefare wfEm

Correct Answer: Dr. A, P J. Abdul Kalam
=, q. . 7. g o

Candidate Answer: [ NOT ANSWERED |
QID : 77 - The third Indian Council for Cultural Relations (ICCR) Distinguished Indologist Award for the year 2017 was awarded to Japanese professor ;

e 2017 & form e vt wfephie de ofieg (wiat .0, ffie st sem s ot ot e &)

Options:
1) Hiroshi Marui
et wrd

2) Shimamaru Marui
a%ﬂmﬁm

3) Nagasaki Marui
AT T

4) Toyota Marui
ZHtET AEd
Correct Answer: Hiroshi Marui

Candidate Answer: | NOT ANSWERED |

QID : 78 - Which of the following city has became first Indian city to get UNESCO's world heritage city tag?

Frefariam oF @ w'a & aee gt & firy e e & 291 T S ATEn TR & U SRR & i 7

Options:
1) Jaipur

ikt o

2) ahmedabad

HEFRTES

3) Gandhi Magar

it R

4) Allahabad

EGITAL 1T

Correct Answer: Ahmedabad
HETETER



Candidate Answer: [ NOT ANSWERED |

QID : 79 - In June 2017, which of the following countries have signed a protocol of co-operaticn in the field of archive?

o 2017 &, Frefariem 7 4 e 221 3 sfvearmm & de & awai & By o nidein o g iy 87

Options:

1) India and Israel
WA FHT §TE

2) India and Portugal
WA e g

3) India and Netherland
W T

4) India and Iran
WA 741 =

Correct Answer: India and Portugal
W @

Candidate Answer: India and Netherand
AT AT HETdE

QID : 80 - India has signed an agreement 1o provide USD 318 million as line of credit for developing railway sector of which of the following country?

R F 9 e 2u w5t w3 Tad dy & e & By 318 Wi ot 2 & e ey wemo o & g o sl e e
Options:

1) Bangladesh
AT
2) Nepal

Fre

o

4; Sri Lanka

Correct Answer: 5ri Lanka
T
Candidate Answer: | NOT ANSWERED |

QID : 81 - Dot Matrix is a type of ;

=tz Aftaw &1 T T &

Options:
1) Tape
i

2) Disk
iF:c= 1

3) Printer
fife

4) Bus
a

Correct Answer: Printer
fifew
Candidate Answer: | NOT AMSWERED |

QID : 82 - The secondary storage devices can only store data but they cannot perform )

Tyl =g T dhae 2 Hie % we & g a8 o o w1

Options:
1) Arithmetic cperations
SO i

2) Logic operations
i uftares

3) Fetch operations
e afeme

4) All options are correct.
it e it 8

Correct Answer: All options are comect.
ot Fereme =T 1

Candidate Answer: All options are cormect,
ot e wft &)

Q1D : 83 - In the modem periodic table metals, metalloids and non metals are found in which block?
yferer v wRu AT, Uy, A sy Rew s o orl o &



Options:
1) s-Block
&3t

2) prblack
p-=in

3) d-block
d-EAt
4) f-block
f-eATeR

Correct Answer: p-block

Candidate Answer: f-block
f-&ieR

QID : 84 - Cinnabar is ore of which of the following?

R F 9 R e o &
Options:

1) Magnesium
Frtfirem
2) Aluminium

3) Mercury
o

T
Correct Answer. Mercury
ol

Candidate Answer: Mercury
o

QID : 85 - In which of the following mirror size of image formed is always equal to the size of object?

Prefarfas o & o & odo F offae o amem wdtn R & amem & wam g &7
Options:

1) Convex mirror
T g

2) Concave mirrar

aae Zdu

3) Plane mirror

HHAH

4) Both convex and concave mirror
e o AT e T

Correct Answer: Plane mirror
T FU

Candidate Answer: Plane mirror
T Fum

QID : 86 - Mass of a hydrogen atom is how many time the mass of an electron?

UeF ETEEteT U] o SN O Setage & gamn o R e gt §7

Options:
1) 1000

2) 8000
3)1837

4) 5000
Correct Answer: 1837
Candidate Answer: 1000

QID : 87 - Which of the following are Fabrics that may contain polyester?

1. Polyeot
Il Pelywool
Il Terrycot

Fraferfam & & = & wogl & divfoez 7t s 7

I. ufferes

1, wifergs
1y, Hmiz



Options:
1) Only 1 and I
e | el

2) Only 1 and I
had |

3) Only 1 and 1
ErcalEd ]

4) All 1, 1l and 1l
1, 1 e 11 zsdt

Correct Answer: All 1, [l and 1l
1, 11 e (et

Candidate Answer: [ NOT ANSWERED |

QID : 88 - Which of the following term does NOT represent electrical power in circuit?

Pt & & o w1 v R ufay § P of = Befa 5 e
Options:

1) *R

2) IR

v

4 VER
Correct Answer: IRZ
Candidate Answer: VZ/R

QID : 89 - A positively charged particle projected towards west is deflected towards north by a magnetic field. What is the direction of magnetic field?

afiy it afte metfie it mrtfia s Reh qad & gr o ek R 8 o &1 et & o R &
Options:
;%a;;mrdsnum

#ir 3

2) toward east
ud &1 Al

3) downward

4) upward
Correct Answer: upward
Candidate Answer: | NOT ANSWERED |

QID : 90 - Which of the following is NOT positively charged?

Frefofaa A @ o wmfi aff &7

Options:
1) Alpha particle

Eceakan
ggqmtm

3) Helium nucleus
§;ﬁmﬂ iR

4) Electron
Correct Answer: Electron

Candidate Answer: Electron
ECE ]

QID : 91 - Which is a water soluble Vitamin?

=i B e o F geeeita i

Options:

1) Vitamin A

frefim A

2) Vitamin C

faEfim C

3) Vitamin D

fefim o

4) Vitamin K

farfiF K

Correct Answer: Vitamin C
c



Candidate Answer: Vitamin C
C

QiD:92-
Match the items given in column (A) with those in
column (B).

Column - A Column-B
. Frog 1. Skin
Il. Leaves 2. Stomata
lll. Earthworm 3. Lungs and skin

o (F) # Y 3 a1 =W (@) & oy
e Hifem)

= - & W=y -9

. #=5 1. o=

I, ufear 2. I

. &g 3. RS FUT =g
Options:
1) -3, 11-2, 11
2) -1, 11-2, -3
3) 3,01, -2
4) 12, 111, -3

Correct Answer: I-3, 1I-2, 1111
Candidate Answer: I-3, [I-2, llI-1
Q1D : 93 - How many number of chambers are there in human heart?

A e it & s Rt e
Options:

3 Two
quhree

3) Four
TR

-l
Correct Answer: Four
(4

Candidate Answer: Three
A

QID : 94 - Which of the following is NOT present in a matured stomata?

o g iy F FreffEs & & o o aofee adff g i

Options:
1) Plasmodesma

22 Chloroplast

3) Cell wall
faf
4) Vacuole
fforen
Correct Answer: Plasmodesma

Candidate Answer: Chloroplast
FERE L



QID : 95 - What is/are the cause(s) of arise hypermetropia?

& 5 2y e wwm B

Options:
1) Excessive curvature of the eye lens.
i # aen ot sl g

2) Elongation of the eye ball.
o F= EA
3) Focal length of the eye lens is too long.
1 e it o i g
4) No npliun is comect.
ELid]

Correct Answer: Focal length of the eye lens is too long.
i & wie ot @ aifies g

Candidate Answer: | NOT ANSWERED |

QID : 96 - Antibiotics are useful for which type of infections?

i me & dwmam & B i A e 8
Options:

1) Only bacteria

Fad

2) Only virus
B

3) Both bacteria and virus
a feremoy 2

4} Meither l:actena nor virus

= gt e 7 # fmm

Correct Answer: Only bacteria
E

Candidate Answer: Only bacteria
vy ey

QID : 97 - Which one of the following is MOT responsible for water shortage?

FrafaiEm & & i e a6 o h & B gaand aff &7

Options:
1) Rapid growth of industries
# e

2) Increasing population
gt ST

3) Forestation

T

4) Mismanagement of water resources
T HHTAT HT HHHA

Correct Answer: Forestation

e

Candidate Answer: Forestation
EECiEL|

Q1D : 98 - Which gas is major contributor to greenhouse effect?

w1 it i aftas wome | TR it gem S A

Options:

1) Carbon dioxide
e ErgifaTEE

2) Chloroflurocarbon
TR R

3) Sulphur dioxide
HEET B HTaE

4) Nitrogen dioxide
Argete A

Correct Answer: Carbon dioxide
A EgairEE

Candidate Answer: Chloroflurccarbon
AR R

QID : 99 - Which of the following is NOT a major problem in development of resources?
Frfafem & & ot o wemes & R & g g i 2



Options:
1) Depletion of resources for satisfying the greed of few individuals.
@ =t &1/ ArTEger S e
2) Accumulation of resources in few hands.
e mfera & g A wEneE] @ Hem)
3) An equitable distribution of resources.
i 1 Tt # e SEanm
4) Indiscriminate exploitation of resources.
HamgAT & iy oo

Correct Answer: An equitable distribution of resources.
AT w1 AT H T dean

Candidate Answer: [ NOT ANSWERED |

QID : 100 - Which of the following is MOT man made ecosystemn?

Fr=faf@a & & o o s B offEeff daaff 2

Options:
1) Orchards
JEE

2) Home aguarium
T

3) Botanical gardens
IR

4) Grassland

T

Correct Answer: Grassland
T 1

Candidate Answer: Grassland
T T AT

QID : 101 - Which of the following represent the crushing strength (MPa) for the good quality stone that are used in the constrection of buildings?

Freaferfam & & & = iaes e gt & S o g @ et aret st o & g o e 8

Options:
1) Less than 20
20 # wn

2) 20 to 60
20 % 60

3) 60 10 80
80 # 80

4) Greater than 100
100 # afirs

Correct Answer: Greater than 100
100 & arfirs

Candidate Answer: Greater than 100
100 2 sfirs

QID : 102 - Which of the following is examined to determine the age of timber?

Frefaitam § & = ot a Fwd £ au Puffe s & B & et 2
Options:

1) Annular ring

garann R (srger fm)

2) Sapwood

3) Pith

wfeh

4) Timber defects

Fa

Correct Answer: Annular ring
FEmrnr fin (s )
Candidate Answer: Annular ring

Freemanr R (srmger o)

QID : 103 - Which of the following is determined with the help of Le Chatelier's device?
Frerferim & & R Frafo &t 325 (Le Chatelier) 3 oo & e & R @ g2



Options:

1) Abrasion resistance
oy ot
2} Chemical resistance

3) Soundness
e ]
4) Strength

Correct Answer: Soundness
F-5i) |

Candidate Answer: Soundness
oo

QID : 104 - The type of mortar which is used for the construction works carried out in water-logged area is .

e s o Fmfor wral & Ry o £ o ad aeiow e
Options:

1) cement mortar
e e

2) loose mortar

o R

3) mortar of very low consistency
g w9 e &

4) mortar having high w/c ratic
T wifc ST

Correct Answer: cement mortar
Hief

Candidate Answer: mortar having high w/c ratio
T wife AT @ HiER

QID : 105 - For M 25 grade concrete, the split tensile strength in terms of percentage of its compressive strength is 3

M 25 iz deefte & frg, wend) uftem sidte aovd & w4 AwfPm o a8

Options:
1)71011%
TE11%

2) 1810 28%
183 28%

3) 28 to 38%

28 % 38%

4) 38 1o 48%

384 48%

Correct Answer: 710 11%
TH11%

Candidate Answer: 28 to 38%
28 % 38%

QID : 106 - Disternpers are generally used to coat ;

R R & du & ferg writn R aman &
Options:
1) compound wall
TORE 9T
2) external concrete surfaces
itz T
3) interior surface which are not exposed to environment
HTrifeeR Telg Wi ateo & wud qﬁp:ﬁi [
4) wood works
ot & w
Correct Answer: interior surface which are not exposed to environment

Tt werE i vt & wwek A o et 2

Candidate Answer: interior surface which are not exposed to environment
ATl HaE w oafae & wush § T

QID : 107 - Which of the following is commaonly used as retarder in cement?
Freferfaa & 4w oz F Rerres & &g & gwtae fv @7



Options:

1) Calcium sulphate
Ffrrm aee

2) Gypsum

e

3) Potassium carbide

4) Sodium chloride
a{mﬂm'rm

Correct Answer: Gypsum
fammm

Candidate Answer: Gypsum
ot

QID : 108 - In the process of hydration of OPC, to complete all chemical reaction, the water requirement (expressed as the percentage of cement) is ]

i 0PC) it weriam(EEdy) witen F, wil et ufafiosd o ool & & fg (4l & offem & v ) ol 6 amasoea |

Options:

1) 510 8%
5% 8%
2) 810 16%
88 16%

3) 20 to 25%
20 # 25%
4) 35 to 45%
25 % 45%

Correct Answer: 20 1o 25%
20 % 25%

Candidate Angwer: 35 to 45%
358 45%

QID : 109 - The slump test is performed to check the

araura afiem (s 3 &1 wia % fong v a8
Options:

%&me of water in cement
# it i afeEfy

2) ratio of concrete ingredients
fehte ATt 3 ST

3) temperature resistance

a1

4) workability of concrete
dehie &Y aeETdar

vz &t

Candidate Answer: workability of concrete
dwfite i soagrdan (o R

Correct Answer: workability of concrete
SEETAT (T Taterel

QID : 110 - The reason behind the low expansion and shrinkage of the plywaood is .

s & we fee ot Rigsa & wwm #

Options:

1) plies are placed at the right angles with each other

ot s gt A vyl et B

2) they are glued under the high pressure

iﬁmé a2 gu A

3) they are held in the position with the help of adhesives
Terreret amet wemef o weE 9 g et & g

4) they are prepared with the help of veneers

& apem wwd & Ao B

Correct Answer: plies are placed at the right angles with each other
T T g & a0 gt o §

Candidate Answer: plies are placed at the right angles with each other
T e g HA O Tt o

QID : 111 - Which one of the following method is used for the approximate estimation?
s f & st ot vgf sgrfe s & fg oot 6 odt 2



Options:

1) Both central line and short wall and long wall method
i Yan aif w e ol ot S o 2

2} Central line method

Fm g

3) Plinth area method

2 &5 nafa

4) Short wall and long wall method
w1 draw ol #E daw ugha

Correct Answer: Plinth area method
A

Candidate Answer: Plinth area method
= s ugh

QID : 112 - Accuracy in the measurement of the thickness of the slab or sectional dimension of column and beam (in centimetre) should be ;

e o it o by ol e & st smam (#hdtee &) o f wfww @i
Options:

1)0.5

21

3)5

4)10
Correct Answer: 0.5
Candidate Answer: 0.5

QID : 113 - Deduction at Tjunction of the wall for total length of the central line is ;

i T it g e 3 o Saw & f-af &
Options:
%I:_(alf of thickness of wall

&t terf it amef

no deduction

e
3) thickness of wall
iganﬁm’mi

4) twice of the thickness of wall

wteT 1
Correct Answer: half of thickness of wall
Erame Fir witerf Fir aneh

Candidate Answer: thickness of wall
&tar & bierd

QID : 114 - For estimation of painted area of semi cormugated asbestos cement sheets, percentage increase in area above plain area is ;

o e e wit itz & 40 gy s & o & v, e i & o AR A e afe 3
Options:

1)0.

2)0.4

3)0.2

4)0.25
Correct Answer: 0.1
Candidate Answer: 0.25

QID : 115 - Scrap value of a property may be ;

fieft =i =1 omafire g7 7w |
Options:

1) both negative or positive

SUITEHT O e

%:{anmam

3) negative

Eicied

4) positive

TR

Correct Answer: both negative or positive
FUTEHE AT ST St

Candidate Answer: both negative or positive
HOTTEH 1 LT &1



QID : 116 - What is the unit of measuring comice?

T H A & g g &7

Options:
1) Cubic metre
LER e

2) Number

Eaciea]

3) Running metre
21;111 offew

4) Square metre
o ftex

Correct Answer: Running metre
e ez

Candidate Answer: Running metre
i Hiew

QID : 117 - Calculate the number of bricks in 20 cubic metres brick works.

20 == dtex &z e & 421 i wimen i movn FfE
Options:

1) 500

2) 1000

3} 10000

4) 100000
Correct Answer: 10000
Candidate Answer: 10000

QID : 118 - Calculate the area (square metre) of the formwork required for a beam of 2 m span and cross section dimension of 400 mm x 200 mm.

400 fErefidtes « 200 Befidier srrer e 6 B ofi 2 e o= & ofte & g smass 012 & dews (o fiex) o Hifard

Options:

1)0.8

2016

1.2

4)2

Correct Answer: 2
Candidate Answer: 0.16

QID : 119 - The cross section areas of three sections of an embankment at an interval of 40 m are 10 square metres, 15 square metres and 35 square metres,
Calculate the quantity of earthwork for the embankment. Use prismoidal method,

40 w2z & e TE e Aeey & ot fvet 6 sy @ @ denme 10 o sliew, 15 @i ofier ol 35 o siter &) Ay & fng oot & md g 6 moen S| e R e
T

Options:
1) 1200

2) 1400
3) 1500

4) 2400
Correct Answer: 1400
Candidate Answer: 1200

QID : 120 - Calculate the annual depreciation (Rs.) of a machine having initial cost of Rs. 10,000. The scrap value is Rs. 1,000 and useful life of 30 years.

o wafta & anfif e (7) & morn S Bed mfe som s 10,000, aafine grg 51,000 $fR guaim s 5 a9 30 T )

Options:
1) 300

2) 367
3)1333

4) 333333
Correct Answer: 300
Candidate Answer: 300

QID : 121 - What is the difference between the sum of interior angles of plane triangle and spherical triangle for area of triangle 195 square kilometre on the Earth's
surface?

Mﬂmmﬁm&:195ﬁhﬁh$$hmﬁwﬁ$mmmmm¢mﬁﬂ:WMMﬁ?



Ortiuns:

1) one degree
oo et

2} one minute
0H

3) one second
O dhe

4) ane radian
o
Correct Answer: cne second
T HEE

Candidate Answer: [ NOT ANSWERED |

QID : 122 - Which one of the following is the largest scale?

P F & b= o o g3t
Options:

1)1:500

2) 11000

) 1:2500

4) 1 :50000
Correct Answer: 1:300
Candidate Answer: 1 :500

QID : 123 - The quadrantal bearing of the line lies in the third guadrant making angle in clockwise with the northis

e Y A e wguter A &l el ates & sy af@omesd et 0wl &t o e o s dafl 2

Or'thns:

1

N { &-180)°E
2) ;
Nig- 'IB'D:I‘W
3)
S(6-180)°E
4)

S(e-180)W
Correct Answer.
S{&e-180)"W
Candidate Answer:
S{e-180)"W

QID : 124 - Calculate the volume of the embankment (in cubic metre) using trapezoidal method, if the cross section areas of the three sections of an embankment at
an interval of 30 m are 20 square metres, 40 square metres and 50 square metres,

Fey & o & e (o diee F) enerrer RBiE & SifE, aft 30 dee sreon w sz & d Rl o s @ @ g 20 o dizw, 40 o diew o 50 @ Az d)
Options:
1) 1100
2) 1150
3) 2250

4) 2350
Correct Answer: 2250
Candidate Answer: 1150

QID : 125 - Which one is the CORRECT order of the tapes based on their accuracy?

#u o wfiE & SR O I A e A

Options:

1) Linen tape = invar tape > metallic tape > steel tape
> TR Y - U E0 >

2) Invar tape > steel tape > metallic tape > linen tape

g 30 > FIH 3 > urg 20 - s i

3} MelaHh:: tagﬁb steel tape = rlne%nqtsp-e = invar tape

4} Memlllc tape = steel tape = Invar tape > linen tape
o7 ¥ = w8 0 » Tea 30 - R 3

Correct Answer: Invar tape = steel tape > metallic tape = linen tape
T ¥ > Fi ¥ = uTg & > o dn



Candidate Answer: Metallic tape > steel tape = linen tape = invar tape
T ¥ = w20 > ee dn - sam dn

Q1D : 126 - In the leveling between two points A and B on the opposite sides of a pond, the level is first set up near the point A and staff readingon A and Bare 2.5 m
and 2,0 m respectively. Then the level is moved and set near the point B, staff reading on points A and B are 1.2 m and 1.7 m respectively. Calculate the difference of
heights between the two points & and B (in metre),

e o e weEt ue i Et Rl A o B & fio s o & ofien F, w0 ) oge fig A & o it ae o filg A ol B or e S e 2.5 fiew ol 2.0 e ol
#) o = ot fig B 3w & e mnlte ae o s S w12 diew ol 1.7 dieg ot ) g A o B % offe Fed o ofae o (dee ) w49

Options:
1j0

2)0.5
ETR

4)1.85
Correct Answer: 0
Candidate Answer: (.5

QID : 127 - Calculate the combined correction for curvature and refraction (in m) for a distance of 2 km.

2 fancidtee it & Fg anman ofte s (sftee ) & R Hes g & oo i)

Options:
1) 0.045

2)0.135
3) 0.269

4)3.14
Correct Answer: 0,262
Candidate Answer: 0.269

QID : 128 - In transit theodolite, the line of the sight can be reversed by revolving the telescope through

e findrEtemee 4, % wyars @ 22 6 T ) dfww afte g 39 Ben an wwa )

Options:

1) 90° in horizontal plane
ap® dfera aa

2) 90" in vertical plane
90° Feafur 7w o

3) 180" in horizental plane
180" ffm aw

4) 180° in vertical plane
180* It =

Correct Answer: 180" in vertical plane
180" Faius o

Candidate Answer: 180" in vertical plane
180" Fafw o |

Q1D : 129 - Which one is the CORRECT sequence for the temporary adjustment of the theadolite?

firtetemse & amurd emates & Ry = o ol @0 d)
Options:

1} Centering, elimination of parallax, leveling, and setting
it T, TR 0 T, B &,
2) Centering, setting, elimination of paraliax and leveling
Fhita e, , T 3 I, Al A g
3) Setting, centering, leveling and eliminaticn of parallax
, Sfem o, T &, i A & T
4) Setting, leveling, elimination ofgﬁamila:t and centering
, AR S, TA 1 g, i kA wen
Correct Answer: Setting, centering, leveling and elimination of parallax
A, &fm e, wHe s, AR w5 T

Candidate Answer: Centering, elimination of parallax, leveling, and setting
il T, w1 I, A L R

QID : 130 - Which of the following is used for determining the location of station accupied by the plane table?
Frefafis F & ot odem op & @ w7 & e ot Praifs ot & B aogi Bea e &2



Options:
mmm“ﬂm and radiation
it fafdem gi=f

2) Intersection method
nfarede womet

3) Radiation method
o oot

4) Two point problem
il e (i, difée oifaem)
Correct Answer; Two point problem
2 firg e (g wide wifaem)
Candidate Answer: Two paint problem
&t g, v (g oifde wiem)

QID : 131 - Which of the following is responsible for the formation of residual soil?

Frefariam i @ wm m@ smafie B & mea & Ry Reee &2
Options:

,g‘g:cfers

2) Water

A

3) Wind

[LE)

4) None of these

gt & &id

Correct Answer: None of these
T & il

Candidate Answer: Water
]

QID : 132 - The coefficient of gradation and the coefficient of uniformity of a given soil sample is 1.0 and 4.0 respectively, The ratio of effective size to the diameter
through which 30% of the total mass is passed is ;

& et Fndt & w1 & e (T2e) Tqories affe v uiTes e 1.0 o1 4.0 #) s o nrdl ST & A s, v mmen @ gEre w1 30% mive e mo g
#

Options:

1)1.25

2)1.5

3)1.75

4)2
Correct Answer: 2
Candidate Answer: | NOT ANSWERED |

QID : 133 - Which of the following shows the CORRECT order of increasing surface areas of the given soil?

Frafaim 4 & o weht & a2 ooy daes & aft oo = Ram iy
Options:

1) Clay = gilt < sand =< colloids

fireit il < ME < T <

2) Gravel < silt = colloids < clay

TR E « ME < HiAlEE <

3) Sand < silt < clay < colloids

= < et ) < weiee

4) Silt < gravel < colloids < clay

e < S « THFAIEE <

Correct Answer: Sand < silt < clay < colloids
¥ = Mg <« Fireit ) < wieie

Candidate Answer: Sand < silt < clay < colloids
< e < Frelt il < s

QID : 134 - What is the assumption made about back of wall, in the Rankine's theory of earth pressure?

yriEeftg gare & ¥rga (Rankine) & frgia & Stame & o & art F @ areon 7
Options:

1) Plane and rough

FHE MR R

2) Plane and smoaoth

T R R

3) Vertical and rough

gt R e

4) Vertical and smooth

Faatee ai R



Correct Answer: Vertical and smooth
Feate aiw R

Candidate Answer: Vertical and smooth
e it R

QID : 135 - Which of the following is CORRECT about the viscosity of gas?

Frferfam & @ wim 6 soeen & o F el 47

Options:

1) Inversely proportional to the temperature
arar F Bt

2) Increases with an increase in the temperature
A | gig & A o @

3) Independent of pressure

T & T

4) !ndeg‘endem of temperature
A &

Correct Answer: Increases with an increase in the temperature
ATHA A gig & A dg A

Candidate Answer: Inversely proportional to the temperature
A & Rt s

QID : 136 - Pressure of 200 kPa is equivalent to the head of z metre of liquid having relative density 1.59. The value of 2 (m) is i

200 kPa 1 Zame 1.59 wrder o= & awe aerd 6 2 ey dand & wwrae f| z (e mam B

Options:
1)11.6

2)11.82
3)12.82

4)13.14
Correct Answer: 12,82
Candidate Answer: | NOT ANSWERED |

Q1D : 137 - Which one of the following statement is CORRECT about the center of buoyancy?

Frefafs § & = @ ue Ieead i & an g e

Options:

1) It is the point where buoyant force act,

TF 3% T § TR o 0 S S g

2) It coincides with the centroid of volume of water displaced

o it et £ mmn & & & ary i mm g

3) It is the point where buoyant force act, and It coincides with the centroid of volume of water displaced
I o8 T & W6 Soend do 1 el & o o Benfim ot fromm F e & au da fram @

4) It acts outside the body.

Ty FreRT o AR S

Correct Answer: It is the point where buayant force act. and It coincides with the centroid of volume of water displaced
T T T & WTE Ieene a9 1 e & o op et ol f o & e & o de e d

Candidate Answer: It is the point where buoyant force act. and It coincides with the centrodd of volume of water displaced
TE 98 T £ el I B a aea ol oy it ol o v & & & wa de s e 2

QID : 138 - A longitudinal rectangular surface is hanged into the water such that its top and bottom points are at depth of 1.5 m and 6.0 m respectively. The depth of
center of pressure (m) from the top surface is \

e S SRR T O A 56 e e w8 T e s ol A & fig w15 diter ol 6.0 dfter o g ae o) st s A g & e g (e
A

Options:

1)38

2)4.2

3) 4.6

4)4.8

Correct Answer: 4.2

Candidate Answer: | NOT ANSWERED |

QID : 139 - The velocity potential which follow the equation of centinuity is ;

i e moEE R A A e &



Options:
1)

©y

2)

o=y

3)
cosX

4)

Xyt
Correct Answer:
x -y

Candidate Answer: [ NOT ANSWERED |

QID : 140 - At what distance from the boundary layer, the value of the wall shear is three times of the turbulent shear?

i uea # frelt g ww, diem & s & ar e s e e e A2
Options:
1)1/3R
2)1/2R
3)2/3R
4)3/4R

Correct Answer. 2/3 R
Candidate Answer: 2/3 R

QID : 141 - Which of the following statement is CORRECT about the stream lines and equipotential lines?

Fr=faiEm F @ o m wa ur Rt ot e s & an o a5l g2

Options:

1) Both can be drawn graphically for viscous flow around any boundary.
ot feedt oft wften & smer s e o Ry i @ am f

2) Meshes formed by them are always squares.

T Z i A g aie B S

3) They always meet arthogonally.

- s

4) They can be calculated for all boundary conditions.

ekt ayor et afen-zamadd o £ o w2

Correct Answer: They always meet orthogonally.
# FRa e e

Candidate Answer: Both can be drawn g;ra hically for viscous flow around any boundary,
Zit mnt fvedt oft dften & s so mEE ng oo e

oD 142 -
The Rankine haif oval body MM is subjected to
the two-dimensional flow having velocity V. The
typical stream line is shown in Ihe following diagram.
The point A in diagram shows

=154 (Rankine) 14T HBEAR O] MM, V @91 &
Y Y el vaw & aha | Rfe

urr T Reatetan wma # feard e B

i # g A

Zafa %




Options:
1) point at which velocity is maximum
ﬂ)'g HE A Jferay &

2) separation point

[UERRET

32 staﬁglion point

4) stall point

w2 filg

Correct Answer: stagnation point
e

Candidate Answer: point at which velocity is maximum
fig w1l 3 sl

QID : 143 - Which of the following is CORRECT ratio for Froude number?

Frefariam o @ wF @ wee e & P e oo &2
Options:

1) Compressive force to inertia force.
e a0 = FE A |
2) Inertia force to gravity force.
e HE ] TN & |
3) Inertia force to tension force.
g A & AT A
4) Viscous force to inertia force.
T o o wEE | |
Correct Answer: Inertia force to gravity force.
TEE T & HTEN &9 |

Candidate Answer: Inertia force to gravity force,
T e W TR S

Q1D : 144 - For the most economical triangular channel section, the angle of sloping sides from the vertical is ;

wad et Preivfro d9a amgum & g, satr @ samosfaem &
Options:

1}

g

2)

45°

3)
60°

4)

75°

Correct Answer:
45

Candidate Answer:
B0

QID : 145 - Method of applying water directly to the root zone of the plant is called ;

det ke ddd ot fogh_ seedtd

Options:
1) check flooding
e wafE

2) drip method

o fAfey

3) furrow method
fafa

4) sprinkler irrigation
e s

Correct Answer: drip method
o

Candidate Answer: furrow method
Fz Rf

QID : 146 - A field of 500 hectares is to be imigated for a particular crop having 100 days base period. The total depth of water required by the crop is 100 cm.
Calculate the duty of the water (in hectares per cubic metre).

100 Rt & amure smfi o R Rrde v & Ry 500 B ds o Rifa Rvn s &1 v & Frg st orft 6 g 100 80fee &) orh & o (08) & moen o (R
i o= wiiew )|



Options:
1)8.64
2) 57.87
3)86.4
4) 864

Correct Answer: B&d
Candidate Answer: 57.87

QID : 147 - The traffic volume of a roadway is defined as the multiplication of :

e T o WA S AT & wm & w A wfnfia e i
upmﬂ:é d head:

1) 5 nd tim

L ol

2) speed and distance way

ngaam &F T

3) traffic density and speed
T T ol

4) time head way and distance headway
T & ot e gl & e

Correct Answer: traffic density and speed
AT T e

Candidate Answer: traffic density and speed
TR O R R

QID : 148 - Calculate the equivalent radius (cm) of the resisting section of 20 cm slab, if the ratic of radius of wheel load distribution 1o the thickness of the slab Is 2.

oft; ufitd & v e (Fte frefiege) £ frem o whe £ vted @ oo 2 8, A 20 $hier = & sy we i aages Bom (@) i o )
Options:

1)20

2) 356

3) 40

4)40.9

Correct Answer: 40

Candidate Answer: | NOT ANSWERED |

Q1D : 149 - On peak hourly demand, what is the maximum daily consumption for the city which have average daily consumption of 100,000 m3?

R arEe A A 2 e 100,000 1= e & afy de aim & e ar it 2 e e g2
Options:

1) 140000

2) 170000

3) 200000

4) 270000
Correct Answer: 270000
Candidate Answer: [ NOT ANSWERED |

Q1D : 150 - For which of the following, distribution mains is designed?

Pt o 4 Feeh forg R e v femen &2

ions:

Opt
1) 4 daily demand
oy

2) Annual peak demand
Tt firEe =

3) Monthly peak demand
e e mim

4) Maximum hourly demand on maximum day
fim a7 axfireram wia s 7

Correct Answer: Maximum hourly demand on maximum day
siferman R o arfiras ol oo mm

Candidate Answer: Average daily demand
aftera 2 mim

QID : 151 - Which of the following statements is true?

A, Most of the loads applied to a building are environmental load.
B. Most of the loads are dead followed by live loads.

Frerforfea A 4 & av w27

A S ow arrRifua 219 o afiresty a waie = gl &
B. nfafirs aw & 712 aiftei ae I i ot #)



Options:

1) Only &

FHaa A

2) Only B

FaAB
3)BothAand B

A 3 B =it

4) Neither A nor B
FfaRaIfe
Correct Answer: Only B
FaA B

Candidate Answer: Both A and B
A ot B g

QID : 152 - How does an increase in the pitch of the roof affects the amount of load that can be placed on it?

el o e 9 g Fo R & e R R S o W e & e O T e 7

Options:

1) It increases

s g e

2) It decreases

g & E e

3) Remains constant

g s a g

4) Depends upon case
% oz e &

Correct Answer: It decreases
TOF &1 & e &

Candidate Answer: Depends upon case
it o iz e &

Q1D : 153 - What will be the rain load (in psf) if dg is 2 inches and dj, is 1 inches?

T d,, 2 59 ol dy, 1 59 &, &t auf v (psf F) B g

Options:
1)5.2

2)10.4
3156

4)20.8
Correct Answer: 15.6
Candidate Answer: | NOT ANSWERED |

QID : 154 - Concrete is:-

e &

Options:

1) Good in compression, good in tension
T e, FE §

2) Good in compression, weak in tension

weftege F s, mama | i

3) Weak in compression, weak in tension
A g, 7 A

4) Weak in compression, good in tension

el & g, e # o

Correct Answer: Good in compression, weak in tension
wwfrE i arer, 4w o gda

Candidate Answer: Good in compression, weak in tension

el F o, T A

QID : 155 - if in planar system, X parts/members are there with ¥ no. of forces, then condition for statically determinacy is:-

oo ety B, X amfarm § e ¥ g d aw ekt & @ dlifw erd Rt S Prad -

Options:

1) ¥ = 3%

¥=<3X

2)¥=3%

¥ = 3X

3) = 3%

W= 3%

4) None of these
T & i

Correct Answer. Y= 3X
¥=3X



Candidate Answer: [ NOT ANSWERED |

QID : 156 - If a system has more equations of equilibrium than no. of forces, then the system is:-

e Forar & a6 e ) e F e & i i #, & R
Options:

1) Im rby constrained
a}ﬂﬁﬁpgﬂh{%ﬁ

2) Partially constrained

afirs =g & Freg

3) stable

st

4) None of these

T & i

Correct Answer: Partially constrained
i =0 & freg

Candidate Answer: | NOT ANSWERED |

Q1D : 157 - Which of the following material is not used in making trusses?

o ae # Frafetae & & B amdt s oo w5l B s 7

Options:

1) Wooaden struts
Rl &

2) Metal bars
urg Ht 0%

3) Channel

oG

4) Concrete

#hie

Correct Answer: Concrete
dwhe

Candidate Answer: Channel
ELE]

QID : 158 - In a truss it is assumed that the members are joined by

mimamam G gm o g d w2 R &

Options:
1) Rough pins
Tt

2) Smooth pins
ot i

3) Either rough or smooth pins
1 A e e e

4) None of these

g & s i

Correct Answer: Smooth pins
firg firm

Candidate Answer: Smooth pins
fora fim

Q1D : 159 - What is the major difference between truss and beam?

o it ofm #f wp sie
Options:

1) Beam can't transmit load in vertical direction while truss can
i e feam 3 i wrenies el o weRe @ e T o e
2) Truss can't transmit load in vertical direction while beam can
£ waad fean § W wEta TE o e & wEt 9t & a8
3) Beam can't transmit load in axial direction while truss can
ity spufte Feam o s wanfee =1 o wean & orafis o0 o A B
4) Truss can't transmit load in axial direction while beam can

2 aaefra fyam o v penfia =1t o s & wrafs o o aat

Correct Answer: Truss can't transmit load in vertical direction while beam can
oo v Ran & v w6 o me § ol d o aedt

Candidate Answer: Beam can't transmit load in axial direction while truss can
iy sqaftr Feam o s wranfie =l o wea & orafls ow o wE B



QID ; 160 - Given that J is no. of joints. B and R are no. of members and no. of reactions.
IfB=4,R=3andJ = 4, then the truss is-

Fera v & s ) it ot e &1 B afle R st offe ofaRemad o dam
MRB=4R=3¥RJ-48 FrEE-

Options:

1) Statically determinate

agﬁmﬁg aftfi

2 Statica13 indeterminate and stable
s%ﬁm w s oty s

3) Stable

et

4) Unstable

oyt

Correct Answer: Uinstable
areeft

Candidate Answer: Statically indeterminate and stable
wiftrs = & afifig o

QID : 161 - Which IS code gives details regarding water to be used in concrete?

e o S Ry ar et el & e F W 1S w12 e weEe e gy

Options:
1) 15 456

2)15 383
3) IS 565

4) 15302

Correct Answer. |5 456

Candidate Answer: |5 456

Q1D ; 162 - Which of the below is an example of plasticizer?

Frforia § & S wniRaTgee F O 35 7

Options:
1) Hydroxylated carboxylic acid
aifferaetes Sralatadfos ans
2) Fluore-silicate
AR
3: Gypsum
4) Surkhi
Correct Answer: Hydroxylated carboxylic acid
grEEtifes A
Candidate Answer: Hydroxylated carboxylic acid
EreEtsirEtE mEl e

QID : 163 - How many methads of batching of concrete are there?

afehte &t &fm wt & et ffimT 82

Options:
1)2

23

35

4) 6

Correct Answer: 2

Candidate Answer: &

QID : 164 - Concrete is generally placed on a:

dehie S OR T ue v e



Options:

1) Form work
Fifefa
ggﬁtand

3) Mould

I
4) Platform

Correct Answer: Form work
ffefa

Candidate Answer: Form work
Ffife et

QID : 165 - The effective width of a column strip of a flat slab is taken as

T wim ol e fem Frnved ded w Ao g

Options:
1) one-fourth the width of the panel
<z = e e
2) half the width of the panel
A= &1 ez o amen
3) half the diameter of the column
& =T T e

4) the diameter of the column
wiem & =

Correct Answer: half the width of the panel
e it =g = amam

Candidate Answer: half the width of the panel
e &t g a amen

QID : 166 - Permanent dimensicn changes due to loading of concrete is termed as:

defte 2 & o mar | 29 aren e ofted wEen g

Options:
1) Strain

3) Creep
frarm

4) Ambit

CiEi ]

Correct Answer: Creep
fermdfm

Candidate Answer: Creep
frafm

QID : 167 - In design of R.C.C, structures, the tensile strength of concrete is taken as;

st . svwmai & R F, defie & a arar ot e v o v e £
Options:

1) 5M/mm?

2) 2H/mm?

3) 0.3M/mm?
4) None of these
g @ id

Correct Answer: Mone of these

T & w

Candidate Answer: None of these
g & i lf

QID : 168 - Flexure strength of concrete is determined as:

dhehie & aene o ) B e o Fruffe B s

Options:
1) Modulus of rigidity

T T
2) Modulus of rupture
T TR

3) Modulus of plasticity
TR T

4) Modulus of elasticity
WA TOTieR



Correct Answer: Modulus of rupture
oy arore

Candidate Answer: Modulus of ruplure
W TOTiER

QID : 169 - Properties of concrete can broadly be divided into:

dhie & FgA e T F B g da
Options:

1)1

2)4

3)2

4)3
Correct Answer. 2
Candidate Answer: 3

QID : 170 - Which IS code gives specifications about cement plaster?

=i A1 15 wig w1 & ey & an A bl e

Options:
1151500

2)15 1221
3) 15 1400

4) 1S 1661
Correct Answer: |5 1661
Candidate Answer: | NOT ANSWERED |

QID : 171 - In a lime-cement plaster, ratic 1:1:6 cormesponds to:

-z & wmee &, 1:1:6 s R wga g &
Options:
1) Lime:cement:sand
o #HnlE: Ay
2) CementLime:sand
¢ ST A,
3) Lime:sand-gravel

S A » !
4) Cement:sand:grave
d{ﬂa a1, ot

Correct Answer: Cement:Lime:sand
iz g A

Candidate Answer: CementLime:sand
i T A,

QID : 172 - On which of the following does the comrect proportion of ingredients of concrete depend upon?

s F & B w aafte & aeedt s ad sgom ek s e
Options:

1) bulking of sand

e T W

2) water content

art &t mwEr

3) absorption and workability
argit A FeEwwdar

4) All option are correct
Gl
Correct Answer: All oplion are correct

anft Fraren wét 8

Candidate Answer: All cption are correct
ot Foreme it



QiD:173-
If X,Y and Z are fineness moduli

of coarse fine and combined
aggregates, the percentage

(P) of fine aggregates to combined
aggregates is

R AR, A A s 9 &
qeHan o X, ¥R Z &, & adw g IR
gafaa 9o & gfawa (P) &

1P = Z£ x 100
Z-y
2]P = ‘:ixl{]{]

3]P = 2= x100
X+Z

4P =22 x100
Z-Y

i on

1) [1] On

a}ﬁﬂ'{“ .

2) [2] Only

Faa [2]

3) [3] Only

3]

4) [4) only

e [4]

Correct Answer: 2] Only
e (2]

Candidate Answer: [2] Onlly
& [2]

QID : 174 - Which of the following statements is falze?

Pt § 4 o @ e meE 2

Options:
1) Workabi[ily of the concrete mix decreases with an in-crease in the moisture content
it &t e A g w1 & Ty defie & R £ gk we gt
2) Concrete for which preliminary tes’ls are conducted, is u:'.alled controlled concrete
dafre farmts g wrafres wierm Reg o & Prifia e seard &
3) Bulking of sand deg-er'vdﬁ % n the ﬁneneﬁs of grains
ey 2 B 0T Y e
4) All option are correct
it §

Correct Answer: All option are comect
ot Foreme it

Candidate Answer: Workability of the congrete mix decreases with an increase in the moisture content
it &t mrn H 2 g & oy Sk & P £ gamd w5t omht @

QID : 175 - Which of the following statements is false?

Fre=faiEm F @ &9 @ wue mea &7

Options:
1) Space between the exterior walls of a warehouse and bag piles should be 30 cm
Sbarts a5 S she 2 3 1 e o S 50 85 e
ngemenl bags should preferably be piled on wooden planks
& dai w R FEE d UET uR e
3) Cement bags should be placed such that bags of one layer does not touch the bags of the adjacent layer
1 T Wb T e aney A i v e At R e a5 T gy
4) None of these
o @ atd

Correct Answer: None of these

A R w



Candidate Answer: Cement bags should be placed such that bags of one layer does not touch the bags of the adjacent layer
ez & Ot =t g weE A T B A ow w O R emew v St A g

QID : 176 - Which of the following statements is false?

frerfefEa F @ @ o wue mea &7

Options:
1) With passage of time, the strength of cement increases
Ty o ATy, i iﬁ£ 8

2) With passage of time, the strength of cement decreases
T & AT, iﬂ'gt 1 e T

3) After a period of 24 months, the strength of cement reduces to 50%

24 wg &1 waft & aw, dite & o F 50% & et g et

4) The concrete made with storage deteriorated cement gains strength with time
vizme i e e g e o dehte o & oy e o wedt

Correct Answer: With passage of time, the strength of cement increases

ey 3wy, #id & wmad F gt e 2

Candidate Answer: The concrete made with storage deteriorated cement gains strength with time
VR 1 7 e #iHE g = T Skl B & Ay AT A e

QID : 177 - For a concrete mix 1:3:6 and water cement ratio 0.6 both by weight, what is the quantity of water required per bag?

dhte e 1;3:6 aft s iz s 0.6 T wi g & B, of den e fr e am 2
Options:

110

mmll?

2)12

1%&—:?

3) 14 kg

14 frat

4) None of these

g & i
Correct Answer: 14 kg
14 fra

Candidate Answer: Mone of these
g & v

QID : 178 - Transport of concrete by pumps, is done for a distance of

o g1 S o aftag, et oft & B R e

Options:
1) 100 m
100 =

2) 200 m
200 stz
3) 300 m
200 ez

4) 400 m
400 ftex

Correct Answer: 400 m
400 iz

Candidate Answer: 100 m
100 ==z

QID : 179 - The compression in PSC is done by

PSC A gediza gea-amd T B9 & ZTT R i &)

Options:
1) Compression
aaftEa

of high-strength tendons.

2) Te-nslunlng
GECIET

3) Shearing
SO

4) Bending
EET

Correct Answer: Tensicning
BECiCTa

Candidate Answer: Tensioning
EECiE ol

QID : 180 - In which beam tension capacity of steel is greater than combined compression capacity of steel and concrete?

o i # e ) e e g ofte defie & wnifam wdee v £ g i st s



Options:
1) Over-reinforced
aifir-

e
2) Under-reinforced
FH-E
3) Singly reinforced
Tl HagE
4) Doubly reinforced

& wqe

Correct Answer: Over-reinforced

Candidate Answer: Under-reinfarced
T

alp:181-
If w is total load per unit area on a panel,

D is the diameter of the column head, L is
the span in two directions, then the sum of

the maximum positive bending moment and
average of the negative bending moment for

the design of the span of a square flat slab,
should not be less than

IR Y9 W Fo AR 9fd sHE & WE, Te &

o &7 =@ DE, o Rt # uie Lg, af afen

gHaE BaF & ure & Bena § @e siwaa
GATHF dFe AUl A HoHF dFA el F
Jraa &1 ATEE ZEE & AET gle Giav

AL (L) BjMi(L+ X )2
C1%(L-2)" D%(-2)

Options:
1) A Only
Fad A

2) B On

LA
3)C Only
FaaC
4) D Only
Faa D

Correct Answer: C Only
Fam ¢

Candidate Answer: [ NOT ANSWERED |

QID : 182 - For a circular slab carrying a uniformly distributed load, the ratio of the maximum negative to maximum positive radial moment is

e TR W for T TR 0 & v e & & g, sl e ofi st aemeres e amgef & oo @

Options:
1H1

2)2
33

4)4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED |



QiD ;183 -
If permissible compressive stress in concrete

is 50 kg /cm?, tensile stress in steel is
1400 kg/em? and modular ratio is 18, the
depih of the beam is

I FhIE A AT FAAEA Fiaaer 50
EMAN2 2, grara & aeer whawer 1400
a2 ¥ AR s s 18 g,

ar @ & mEus &

0.11765xB.M.
1]d= [—/——
] breadth

0.22765xB.M.
2ld = [———
] breadth

0.33765xB.M.
3)d =

breadth

0.44765xB.M.
4ld = breadth

Op;iunsr

1)1] On

&;ﬂlill i

2) [2] Only

3010

3) [3] Only

e [3]

4) 4] Only

& [4)

Correct Answer; [1] Only
Faa (1]

Candidate Answer: [4] Only
e 4]

QID : 184 - The breadth of a ribbed slab containing two bars must be between

# we A uriER v 6 dver vad e g mity

Options:
1)6cmto7.5cm
6w 7.5 2

2)8cmto10em
& el 4 10 it

A 10cmto12cm
10 Feft 7 12 Ft
4) None of these
T # e

Correct Answer: 8 cm to 10 cm
&t & 10 =t

Candidate Answer: [ NOT ANSWERED |

QID : 185 - A foundation rests on which of the following?

dfa Fefaf@a d 4 e warfim i

Options:

1) base of the foundation
T M

2) sub grade

g sfoft

gg;nundaliun s0il

1 g

4) Both Sub grade and foundation soil
g sty afe =ffa &t Bt

Correct Answer: Both Sub grade and foundation soil
g St stz ffa £ h 2=



Candidate Answer: Both Sub grade and foundation soil
Ty i i =ffa &1 i S

QID : 186 - Which of the following statements is true?

feffmdd s o s aadr

Options:

1) To ensure uniform pressure distribution, the thickness of the foundation is kept uniform throughout

TEEE 2T e & o, e & dverd oot e & oweme A @

2) To ensure uniform pressure distribution, the thickness of the foundation is increased gradually towards the edge
TEEAE g ﬁﬁ%ﬂmﬂ fer, <ffa & dhard & iz it st Tt g R g B m'fﬁg?

3) To ensure uniform pressure distribution, the thickness of the foundation iz decreased gradually towards the edge
TEEEE 2T mmmm@rmﬁmﬁmmmmmmmmg

4) To ensure uniform pressure distribution, the thickness of the foundation is kept zero at the edge

TR T e gﬁ%ﬂ T & P, wie o e o e e wft o

Correct Answer: To ensure uniform pressure distribution, the thickness of the foundation is decreased gradually towards the edge
e T e gt we & g, s f ded o s g -l o @ o @

Candidate Answer: To ensure uniform pressure distribution, the thickness of the foundation is decreased gradually towards the edge
e e (e g e & G, e e F ot fr o o g i we g e

QID : 187 - The weight of a foundation is assumed as which of the following?

Fr=farfam & @ frd e v o s #7

Options:
1) 5% of wall weight
&rae & g9 & 5%

2) 7% of wall weight
FHa %

3) 10% of wall weight

£ & T W 10%

4} 12% of wall weight
& T w12%

Correct Answer: 10% of wall welght
St & a 10%

Candidate Answer: 10% of wall weight
et & Foe w1 10%

QID ; 188 - If the width of the foundation for two equal columns is restricted, the shape of the footing generally adopted is

T & wE T & T < 6 e it £, 7 o w9 8 s w e wa

Options:
1 are
o

2) rectangular
HIHATRT

3) trapezoidal
e gt
4) triangular
ECa ]

Correct Answer: rectangular
FHTIATE

Candidate Answer: trapezoidal
ey wgpfafia

QID : 189 - Maximum shear stress theory for the failure of a material at the elastic limit is known as

e Hia o w6 R & g st s wlies wgg e F o @ wmen g
Options:

1) Guest's or Trecas' theory

Tz m g Fgia

2) St.Venant's theory

He @i o figia

3) Ranking's theory

Hina w frgim

4) Haig's theory

& g

Correct Answer: Guest's or Trecas' theory
e m g A

Candidate Answer: Haig's theory

= Rgha



QID : 190 -
A simply supported beam carries a varying

load from zero at one end and w at the
other end. If the length of the beamis a,
the maximum bending moment will be

FAFT T R EANG @7 & 06 o FT AT wi
3 ZEY O &1 9T wi e @ #r
war$ a &, & HfWFaH awa argot @

Al g
2

Bl T

wia
Y%

wa?
D55

Options:
1) A Only
E

2) & Only
Faa B
3) C Only
FaE C
4) D Only
FaaD

Correct Answer: [ Only
Faa D

Candidate Answer: | NOT ANSWERED |

QID : 191 - When not specified, the volume of steel in R.C.C. work is taken as:-

a e Aot sd d e wmamms _ Pamaman g

Options:

1) 1% to 1.6% of R.C.C. valume

i arraT w1 # 1.6%

2) 2% to 4% of R.C.C. volume
T 2% 4%

3) 4% to 6% of R.C.C. volume

it s 4% # 6%

4) 0.6% to 1% of R.C.C. volume
HT 6% E 1%

Correct Answer: 0,6% to 1% of R.C.C. volume
Fedtet e & 0,6% # 1%

Candidate Answer: 2% to 4% of R.C.C. volume
e ST 2% 4%

QID : 192 - The ratio of maximum shear stress to average shear stress of a circular beam is:
A3
B. 3/2
C.3/4
D 443

e, 4tm w1 ifiman sueam ot el sl s oftes w1 o
A2F3
B. 32
C.3/4
0. 4/3



Options:
1) A Only
Feaa A

2) B Only
Faa B

3)C Only
FaAC
4) D Only
FaaD

Correct Answer: [ Only
Faa D

Candidate Answer: B Only
A B

QID : 193 - The property of a material by which it can be beaten or rolled into plates, |s called

et et T v g 2R ity e T e et &R O wed! & dEea &
Options:

1) ductility
BRG]

2) plasticity
Rt

3) elasticity

TR

4) None of these

gt & &id

Correct Answer: None of these
T & il

Candidate Answer: ductility
BEG

QID : 194 - What is the limit to Poisson's ratio?

v & argara 6 wfim am 7
Options:
1) 0.1

2)0.2

3)03

4) None of these
A & i

Correct Answer: MNone of these
= 3 e
Candidate Answer: 0.3

QID : 195 - Among the following, which is least elastic?

Frefariam o @ w'm, T wn vare g 8
Options:

;g_;n:m

2) Copper
it

3) Both Copper and Silver
it af T 2

4) Rubber

THE

Correct Answer: Rubber
E

Candidate Answer: Both Copper and Silver
e affe Tora S

QID : 196 - Two bars of different materials are of the same size and are subjected to same tensile forces, If the bars have unit elongations in the ratio of 4 : 7, then the
ratio of modulius of elasticity of the two materials is

A 47
B. 410
C.16:49

fafirg st <t 1 o wwm ama ot ol o9 OF e A A i R wm # oft e o g Efe s 4:7 # F 5 ST wmedt o o e o e #

A A7
B. 410
C.16:49



Options:
1) & Only
Feaa A
2) B Only
Faa B
3)C Only
FaAC

4) None of these

g @ e

Correct Answer: Mone of these
T & i A

Candidate Answer: A Only
Fad A

QID : 197 - If a composite bar of steel and copper is heated, then the copper bar will be under:

i T Al i o Hn e ) e R e 8, A e 6 o g alia gl
Options:

1) tension
GEIC]

2) shear
SO

3) torsion

4) None of these

gt & &id

Correct Answer: None of these

T & il

Candidate Answer: [ NOT ANSWERED |

QID : 198 - Pick up the incorrect statement from the following : The torsicnal resistance of a shaft is directly proportional to

Preaferfr & & mera e g vt o wivg Rty R ST e

Options:
1) madulus of rigidity
g iR

2) angle of twist

3) reczgmcal of the length of the shaft
sfferz &t Fard & sqzarITEl

4) moment of inertia of the shaft section,

T AW

Correct Answer: moment of inertia of the shaft section,
2ffeFe ST &

Candidate Answer: reciprocal of the length of the shaft
sffrz o1 waTe & e

QID : 199 - Net sectional area of a tension member, is equal to its cross section area

AT T ) et Ui SR, THE AEe aftaie S |
Options:
wlus the area of the rivet holes

flrd i drra ddn koo dar &
i}(divided by the area of rivet holes

& & g it e e wre e wm
:_}Irnultigbed by the area of the rivet holes

e & fivet & dhvwer st oo Feds e e A
4) minus the area of the rivet holes

B SO Tl T W R e

Correct Answer: minus the area of the rivet holes
i fede & et & drme ot wreene o e s

Candidate Answer: minus the area of the rivet holes
&t e & gl & dieer ol e e e v 8

QID : 200 - When a tension member consists of two channel sections, the allowance for rivet hole is made for two holes from

T e # g1 e A g o, e & i & forg afee - 9 2t el & forg e e



Options:
1) each web
w4

2) each flange
wete

3) each web or one hole from each flange whichever is more
Wt 4 O W o e e fi i oft arfe w

4) each web or one hole from each flange whichever is less
Tt i o netes R 0w T R ot it m g

Correct Answer: each web or one hole from each flange whichever is less
w7 m uts B me o R S R wa @

Candidate Answer: each web
el g

Auhippo.com



